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(iz1) Use separate answer-sheets for MCQs and theory questions.

(z11) ~ Negative marking system is applicable to wrong answer of MCQ.

MCQ
1. Attempt all Multiple Choice Questions : 10
() The coefficient of viscosity of gas is equal to :
Ao _
(@ M= EDCK b) n=pch
Oy _
() M=Zpc d n=pc

3

@i1) The relation between coefficient of thermal conductivity and

viscosity is :
@ K=c ) K=nd
©  K=nc, d K=mnp
P.T.O.
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(zii)  The expression for critical pressure is :

a
27b?

(@ 3b b)

a

(c) >7h

(d) none of these

(tv)  The van der Waals introduced a correction for :

(@) Pressure b) Volume

(¢)  Both (a) and (b) (d)  None of these
) The SI unit of entropy is :

(@) Cal (b)  Kelvin

(¢)  Joule (d)  Cal/Kelvin
(vi) An adiabatic process occurs at constant :

(@) Temperature b) Heat

(¢)  Volume (d)  Pressure

(vit)  The efficiency of Carnot engine working between steam point and ice

point is :
(@)  26.81% b) 16.81%
(c) 0 (d)  50.50%

(viit) The enthalpy of the thermodynamic system is :
(@ H=U-PV b) H=U+ PV
0 H=U-PdV d H=U+ PdV

(ix) The combined form of first and second law of thermodynamics is :
(@ Tds = dU b) Tds =dU + pV

(c) Tds = dU + pdV (d) None of these
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(x) According to Stefan’s Boltzman’s law is :

@ E = oT} ®) E = oT?
© E = c(T2 —Tg) d E = G(T4 —T(;‘)
Theory
2. Attempt any five of the following questions : 10
(@) Define Boyle’s temperature.

(b) What is an adiabatic process ?

(c) State second law of thermodynamics by Kelvin.
d) Define Helmholtz function.

(e) Write down Clausius-Clapeyron heat equation.
03] State Planck’s radiation law.

(L) State Wien’s displacement law.

3. Attempt any two of the following questions : 10
(@) Describe porous plug experiment.
(b) Explain entropy change in irreversible process.

(c) Prove the following Tds equation :

Tds = C,dT + T(a—P) dv.
oT ),

(d) Give the deduction of Wien’s displacement law.
4, Attempt any one of the following questions : 10
(@) Deduce an expression for coefficient of self diffusion.

b) Explain Carnot’s cycle and its efficiency.
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